
No. of Printed Pages : 8 ECO-7 

BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
December, 2011 

O 
ELECTIVE COURSE : COMMERCE 

O 
ECO-7 : ELEMENTS OF STATISTICS 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any four questions. All questions carry equal 
marks. 

1. 	(a) Fill in the blanks with the appropriate word 	5 
chosen from those given in the brackets : 

(i) Dispersion is based upon the averages 
of the  	order. 
[third/second] 

(ii) Geometric mean gives 
result as it is rigidly defined. 
[Indefinite/ precise] 

(iii) Classification is a process of statistical 
analysis while tabulation is a way of 
presenting _ 	 
[Data/ Derivatives] 

(iv) Median is that value of the variable 
which divides the group into 
	 equal parts. [Four/Two] 
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(v) For obtaining the value of quartile 
deviation, we divide the  
between first and third quartiles by 
two. [Balance/Difference] 

	

(b) State whether the statements given below 	5 
are True or False. 

(i) Every average has its own peculiar 
characteristics. It is difficult to say as 
to which average is the best. 

(ii) Graphs are generally a pictorial 
representation of facts through lines 
or curves. 

(iii) If the series is plotted on a graph paper 
and a bell shaped curve emerges, the 
skewness shall be present. 

(iv) Range increases or decreases with the 
value of sample. 

(v) Dispersion shows the scatteredness of 
items in a series while skewness relates 
to the properties of its shape. 

(c) Explain the relationship between median 21/2 
and mode. 

2. 	(a) Karl Pearson's co-efficient of skewness for 	5 
a distribution is — 0.7 and the values of 
median and standard deviation are 12.8 and 
6 respectively. Determine the value of mean. 
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(b) What are the criteria of a satisfactory 	5 
measure of central tendency ? Discuss the 
standard measures and state as to which of 
these is a satisfactory criteria. 

(c) Explain the utility of statistics in business. 	2 1/2 

	

3. 	(a) How are the mean and median affected 	4 
when it is known that for a group of ten 
students scoring an average of 60 marks and 
the best paper was wrongly marked 80 
instead of 75 ? 

(b) If arithmetic mean and geometric mean of 	4 
two values are 10 and 8 respectively find 
the values. 

(c) What is Lorenz Curve ? Describe as to how 4 1/2 
a Lorenz curve is constructed, and discuss 
its uses. 

	

4. 	(a) Explain any three important methods used 4 1/2 
for diagrammatic representation of data. 

(b) Make a frequency table having grades of 	8 
wages with class-intervals of two rupees 
each from the following data of daily wages 
received by 30 labourers in a certain factory, 
and then compute the average daily wages 
paid to labourers. Daily wage in Rs. 

14, 16, 16, 14, 22, 13, 15, 24, 12, 
23, 14, 20, 17, 21, 18, 18, 19, 20, 
17, 16, 15, 11, 12, 21, 20, 17, 18, 
19 22 23 
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5. 	(a) A particular model of a radio set carries the 	5 
following price-tags : 

Rs. 210, 220, 225, 225, 225, 235, 240, 250, 
270, 280 

Calculate mean deviation of prices. 

(b) Co-efficient of variation of two series are 58 7 1/2 
and 69. Their standard deviations are 21.2 
and 15.6 respectively. What are their 
arithmetic means ? 

6. 	(a) Write a short note on the editing of data. 	4 
(b) What is statistical error ? How does it differ 	4 

from mistake. 

(c) Write a short note on Degree of Accuracy. 4 1/2 

7. 	Calculate the mean and standard deviation from 12 1/2 
the following distribution of weekly wages of 
5,000 employees of a factory. 

Wages (Rs.) 50-55 45-50 40-45 35-40 30-35 25-30 20-25 
No. of workers 250 300 400 450 800 1100 1700 
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5. 	(a) MTh 	d 	 4-1150 	f99 -A1:0 t.  I 	5 

T. 	210, 220, 225, 225, 225, 235, 240, 250, 

270, 280 
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